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1	Overall description
RAN2 has discussed how to introduce RRC configuration of an associated band based on the following RAN1 agreement.
	Agreement:
Following working assumption is confirmed with updates.
Working Assumption
At least for dual UL, reuse existing RRC parameter {oneT, twoT} via uplinkTxSwitching-DualUL-TxState to solve the issue on ambiguous switching state at least for following cases
· Case#1 of the issue: two Tx chains are currently associated with band A, and next transmission is 1 port transmission on band B, but there are multiple possible switching cases where 1P on band B is supported
· if twoT is indicated, both of two Tx chains are switched to band B
· if oneT is indicated, one Tx chain is switched to band B while another Tx chain remains on band A
· Case#2 of the issue: two Tx chains are currently associated with band A and B, and next transmission is 1 port transmission on band C, but there are multiple possible switching cases where 1P on band C is supported
· if twoT is indicated, both of two Tx chains are switched to band C
· if oneT is indicated, one Tx chain is switched to band C while how to determine the associated band for another Tx chain is FFS
· Alt.1: based on gNB’s configuration/indication e.g., new RRC parameter
· Alt.2: based on predefined rule
· Other alternative is not precluded
FFS for other potential cases



RAN2 achieved the following agreements.
	RAN2#121
For RRC configuration to clarify ambiguous Tx state, RAN2 should introduce an RRC configuration that associates a band to another band which the unused Tx chain is switched to when the switch is from concurrent transmission on two bands to 1 Tx transmission on another band.
RAN2#121bis-e
P2: RAN2 reuse uplinkTxSwitching-DualUL-TxState-r17 to indicate the state of Tx chains for dualUL mode.



Furthermore, RAN2 discussed expected behaviours when a UE is indicated to switch from two bands to one different band (e.g. A+B => C) and agreed the following understanding as a baseline in RAN2#121bis-e.
	P3-2: Baseline R2 “understanding” (can be modified and clarified in offline)
When the UE is indicated to switch from two bands to one different band (e.g. A+B => C), follow below logic when determine the switched Tx:
- If network indicates 1port transmission on band C,	Comment by Morton Lin (林牧台): May we have a question for clarifying interpretation: does this statement mean that the network indicates 1port transmission on band C through DCI?	Comment by Riki Okawa (大川 立樹): Yes, this indication means UL scheduling via DCI. We understand RAN1 know what it means without any additional clarification.
and uplinkTxSwitching-DualUL-TxState is set to oneT, and the associated band is configured to band C:
---- Switch 1Tx chain to band C and switch another Tx chain to associated band;
- Else if network indicates 1port transmission on band C, but uplinkTxSwitching-DualUL-TxState is not configured or is set to twoT, or associated band is not configured for band C:	Comment by Riki Okawa (大川 立樹): We are fine with CATT’s and Huawei’s suggestions. One small correction: If we say “Otherwise” in this step, this may lead to include our unintended cases, e.g., when the network indicates transmission on A+C, B+C, and other many switching cases. We would like to use “Else if” to avoid expansion of intended scope.	Comment by CATT-Luyang: According to RAN1’s agreement, NW may not configure an associated band for the band, in such case, even if oneT is configured, UE performs switching as twoT is configured when 1 port transmission on the band is scheduled. 
Therefore, only if uplinkTxSwitching-DualUL-TxState is set to oneT and associated band is configured to band C, UE will switch 1Tx to band C and switch another Tx chain to the associated band; UE will switch 2Tx to band C in all other cases (i.e., uplinkTxSwiching-DualUL-TxState is not configured or is set to twoT, or associated band is not configured to band C). 
The original wording does not consider the case associated band is not configured.
	Comment by Huawei, HiSilicon_Rui: We would like to echo CATT’s comment. The RAN1 agreement is copied below:


Then only when “uplinkTxSwitching-DualUL-TxState is set to oneT and associated band is configured for band C” the associated band is used. For other cases, both of 2Tx are switched to band C. So the last “if” can also be merged into “otherwise”.
We understand the key point is to specify which band the Tx needs to be switched to. The order in which the parameters are checked is UE internal processing and can be left to UE implementation.
---- Switching 2Tx chains to band C.



RAN2 would like to ask RAN1 to take the above understanding into account and inform RAN2 if any issue.
2	Actions
To RAN WG1
ACTION: 	RAN2 respectfully asks RAN1 to take the above understanding into account and inform RAN2 if any issue.

3	Dates of next TSG RAN WG2 meetings
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In Case#2 where two Tx chains are currently associated with band A and B, and next transmission is 1 port
transmission on band C, if opeT is indicated via uplinkTxSwitching-DualUL-TxState, one Tx chain is switched to
band C and associated band for another Tx chain is determined by new RRC parameter which is down-selected
from following alternatives.
e Anassociated band is configured for each band so that another Tx chain is associated with the configured
band (as associated band for the transmitting band)
o E.g., associated band for each transmitting band is configured as {B for A}, {A for B}, {A for C}
and {C for D}.
= When I port transmission on band C is scheduled and Tx chains are currently associated
with band A and B, Tx chain associated with band B is switched to band C while another
Tx chain associated with band A remains unchanged (because band A is associated band
for band C)
= When I port transmission on band D is scheduled and Tx chains are currently associated
with band A and B, Tx chain associated with band A (or B) is switched to band D while
another Tx chain associated with band B (or A) is switched to band C (because band C is
associated band for band D)
If there is one band where concurrent transmission wi
i and. In such case, even if oneT is configured, UE performs switching as twoT is
configured when 1 port transmission on the band is scheduled




